Thu, Jul 2, 2015 MATH 350 Quiz 7
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Each problem is worth 2 points. Show all your work.

1. If fis 1ncreasmg on the interval I = [a,b] prove thatf is integrable.
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2. If f and g are nonnegative bounded functions on I = [a,b], and M = sup; f, m = inf;
N =sup; g, n = infy g, show that
sup f(w) g(z) — inf f(z) g(z) < MN — mn.
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Please turn over...



3. Suppose f and g are nonnegative, bounded, and integrable on I = [a,b]. Prove that fg
is integrable on I. Hint: use the result of the previous problem.
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4. (bonus: 2 points) Give an example of a function f defined on [0,1] such that |f] is

integrable but f is not. i y @ | y[ %/‘ ( /) _ ’22’7 / - 1
- J . = O = ,/ )
/éx) ) %q /) ofterwile . M, (%) %’}_‘;«XM% g
\ + - M Ax(\
fm | #Péf")lj/,ﬂmﬁ”"/ S (%/D> g "
= 4.0 M=/
(=1

§~/% P) = [é oy DX, ﬁ(’f)é;ﬁx(‘ =1

[l A [

=" /#7 ot ﬁv@ra,ﬂ—é,



